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Question Number : 1 Question Id : 7311301279 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What implies to harmony and integration within the individual, between each individual and
other members of society and between individuals and the world in which they live?

1. Physical Dimension of Health

]

. Mental Dimension of Health

Lad

. Social Dimension of Health

4. Emotional Dimension of Health
Options :
7311305101. 1



7311305102. 2
7311305103. 3
7311305104. 4

Question Number : 1 Question Id : 7311301279 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
7311305101. 1
7311305102. 2
7311305103. 3
7311305104. 4

Question Number : 2 Question Id : 7311301280 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Lifestyle factors that promote good health does not include which of the following?

1. Adequate Nutrition

-

. Enough Sleep

L

. Sufficient Physical Activity

4. Genetic Composition
Options :
7311305105. 1
7311305106. 2
7311305107. 3
7311305108. 4

Question Number : 2 Question Id : 7311301280 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
7311305105. 1
7311305106. 2
7311305107. 3
7311305108. 4
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Question Number : 3 Question Id : 7311301281 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What defines the "Reliability" of health indicators?

1. Thev should actually measure what they are supposed to measure.

-

. The answers should be the same if measured by different people in similar circumstances.
3. They should be sensitive to changes in the situation concerned.

4. They should have the ability to obtain the data needed.
Options :
7311305109. 1
7311305110. 2
7311305111. 3
7311305112. 4

Question Number : 3 Question Id : 7311301281 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305109. 1
7311305110.2
7311305111. 3
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7311305112. 4

Question Number : 4 Question Id : 7311301282 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following term has been defined by WHO as "the control of all those factors in
man's physical environment which exercise or may exercise a deleterious effect on his physical
development, health and survival"?

. Environmental Sanitation

]

. Environmental Health

L

. Environmental Standard

4. Environmental Control
Options :
7311305113.1
7311305114.2
7311305115.3
7311305116.4

Question Number : 4 Question Id : 7311301282 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305113. 1
7311305114. 2
7311305115. 3
7311305116. 4

Question Number : 5 Question Id : 7311301283 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the statement is false in relation to "Ground Water" ?

1. It 1s likely to be free from pathogenic agents.

b2

. It 1s more subjected to contamination than surface water.

Lad

. It is superior to surface water, because the ground itself provides an effective filtering
medium.

4. The supply of Ground Water is likely to be certain even during dry season.
Options :
7311305117. 1
7311305118. 2
7311305119. 3
7311305120. 4

Question Number : 5 Question Id : 7311301283 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

73113051171
7311305118. 2
7311305119.3
7311305120. 4
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Question Number : 6 Question Id : 7311301284 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the full form of NOAEL which is defined as the highest dose or concentration of a
chemical in a single study, found by experiment or observation, that causes no detectable adverse
health effects?

|. No-observed-adverse-effect level.

b2

. No-observed-adverse-essential level.

Lo

. Nil-observed-adverse-efiect level

4. No-observed-adequate-effect level
Options :
7311305121. 1



7311305122. 2
7311305123.3
7311305124. 4

Question Number : 6 Question Id : 7311301284 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305121. 1
7311305122.2
7311305123.3
7311305124. 4
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Question Number : 7 Question Id : 7311301285 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What does the unit "Becquerel (Bq)" defines ?

1. The activity of a pathogenic material.

b2

. The activity of a radio-active material.

Lo

. The activity of a chemical material.

4. The activity of a hardness of material.
Options :
7311305125. 1
7311305126. 2
7311305127. 3
7311305128. 4

Question Number : 7 Question Id : 7311301285 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
7311305125. 1
7311305126. 2
7311305127. 3
7311305128. 4

Question Number : 8 Question Id : 7311301286 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Medical sociology is a specialization within the field of sociology.It was first proposed by whom?

l. Robert K. Merton

2. Malcom V

t

L¥S]

. Charles Mclntire

4. Bottomore T.B
Options :
7311305129. 1
7311305130. 2
7311305131.3
7311305132. 4

Question Number : 8 Question Id : 7311301286 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
7311305129. 1
7311305130. 2



7311305131. 3
7311305132. 4

Question Number : 9 Question Id : 7311301287 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The speciality of family practice is specially designed to deliver which type of care?

1. “Primary care”

EJ

“Secondary care”
3. “Tertiary care”

4. “Quaternary care”
Options :
7311305133. 1
7311305134.2
7311305135.3
7311305136. 4

Question Number : 9 Question Id : 7311301287 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305133. 1
7311305134. 2
7311305135.3
7311305136. 4
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Question Number : 10 Question Id : 7311301288 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statement is FALSE?

1. Contraceptive methods which may be quite suitable for one group may be unsuitable for
another because of different cultural patterns.

2. The social obstetric problems in India, differ from the social obstetric problems in the
developed countries, because of cultural factors.

3. Studying the cultural patterns relating to childbearing might be useful in promoting
acceptance and utilization of obstetric and paediatric services by the community.

4. The traditions affecting habits related to cleanliness, eating, clothing, and child care are
unaffected by cultural factors.
Options :
7311305137. 1
7311305138. 2
7311305139. 3
7311305140. 4

Question Number : 10 Question Id : 7311301288 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
7311305137. 1
7311305138.2
7311305139. 3
7311305140. 4

Question Number : 11 Question Id : 7311301289 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



"Security that society furnishes through appropriate organization. against certain risks to which
its members are exposed" is termed as which of the following?

1. Society security

]

. Health security

L

. Social security

4. Community security
Options :
7311305141. 1
7311305142.2
7311305143. 3
7311305144. 4

Question Number : 11 Question Id : 7311301289 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305141. 1
7311305142. 2
7311305143.3
7311305144. 4
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Question Number : 12 Question Id : 7311301290 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Waste in health care processes can be classified into how many types ?

1. Five

| ]

. Six

3. Seven

4. Four
Options :
7311305145. 1
7311305146. 2



7311305147. 3
7311305148. 4

Question Number : 12 Question Id : 7311301290 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305145. 1
7311305146. 2
7311305147.3
7311305148. 4

Question Number : 13 Question Id : 7311301291 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process that involves mixing waste with cement and other substances before disposal. in
order to minimize the risk of toxic substances contained in the wastes migrating into the surface
water or ground water is termed as ?

|. Inertization

g

. Incineration

L

. Land disposal

4, Microwave irradiation
Options :
7311305149. 1
7311305150. 2
7311305151. 3
7311305152. 4

Question Number : 13 Question Id : 7311301291 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305149. 1
7311305150. 2
7311305151. 3
7311305152. 4
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Question Number : 14 Question Id : 7311301292 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who is the father of epidemiology?

1. John Snow
2. Paracelsus
3. Andreas Vasalius

4. Ambroise Pare
Options :
7311305153. 1
7311305154. 2
7311305155.3
7311305156. 4

Question Number : 14 Question Id : 7311301292 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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7311305154. 2
7311305155.3
7311305156. 4

Question Number : 15 Question Id : 7311301293 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Active Immunity is not acquired by which of the following?

1. After clinical infection.

b

. After administration of an antibody-containing preparation.

Lad

. After subclinical or inapparent infection.

4. After immunization with an antigen which may be a live attenuated vaccine or toxoid.
Options :
7311305157. 1
7311305158. 2
7311305159. 3
7311305160. 4

Question Number : 15 Question Id : 7311301293 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305157 1
7311305158. 2
7311305159. 3
7311305160. 4
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Question Number : 16 Question Id : 7311301294 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The introduction of a gene sequence into a cell with the aim of modifying the cell's behaviour in a
clinically relevant fashion is termed as ?

1. Gene therapy

]

. DNA technology

L

. Cell technology

4. DNA therapy
Options :
7311305161. 1
7311305162. 2
7311305163. 3
7311305164. 4

Question Number : 16 Question Id : 7311301294 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305161. 1
7311305162. 2
7311305163. 3
7311305164. 4
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Question Number : 17 Question Id : 7311301295 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which condition is known to be highly endemic in Sub-Himalayan regions?

1. Xerophthalmia

| o]

. Protein-Energy Malnutrition
3. Goitre

4. Apnaemia
Options :
7311305165. 1
7311305166. 2



7311305167. 3
7311305168. 4

Question Number : 17 Question Id : 7311301295 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305165. 1
7311305166. 2
7311305167. 3
7311305168. 4
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Question Number : 18 Question Id : 7311301296 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who discovered vaccination against smallpox in 17967

. Louis Pasteur

(]

. Walter Reed

. James Lind

Lad

4. Edward Jenner
Options :
7311305169. 1
7311305170. 2
7311305171.3
7311305172. 4

Question Number : 18 Question Id : 7311301296 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
7311305169. 1
7311305170. 2
7311305171. 3
7311305172. 4
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Question Number : 19 Question Id : 7311301297 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is defined as ."The process of continuous progressive improvement of the health status of a
population"?

1. Continuous development

]

. Health development
3. Progressive development

4. Population development
Options :
7311305173. 1
7311305174.2
7311305175.3
7311305176. 4

Question Number : 19 Question Id : 7311301297 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
7311305173. 1



7311305174. 2
7311305175. 3
7311305176. 4

Question Number : 20 Question Id : 7311301298 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which vear the urban leprosy control programme was initiated to address the complex
problem of larger population size, migration, poor health infrastructure and increasing leprosy
cases In urban areas?

1. 2005

]

. 2006
3.2007

4. 2008
Options :
7311305177. 1
7311305178. 2
7311305179. 3
7311305180. 4

Question Number : 20 Question Id : 7311301298 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. 2005

(R

. 2006

3.2007

4. 2008
Options :
7311305177. 1
7311305178. 2
7311305179. 3
7311305180. 4

Question Number : 21 Question Id : 7311301299 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is false in terms of the peculiarities of a hospital system?

1. A hospital is a closed system which interacts within its environment.

b2

. The boundaries separating the hospital system from other social systems are not clear.

Lad

. A hospital system has to be in a dynamic equilibrium with the wider social system.

.

. A hospital system is not an end in itself. It must function, as a part of the larger health care
system.

Options :

7311305181. 1

7311305182.2

7311305183. 3

7311305184. 4

Question Number : 21 Question Id : 7311301299 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305181. 1

7311305182.2

7311305183.3

7311305184. 4
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Question Number : 22 Question Id : 7311301300 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What type of communication covers horizontal flow of information with people on same
organisational level, and also diagonal flow with persons at different levels who have no direct
reporting relationships?

. Downward Communication

b2

. Upward Communication
3. Crosswise Communication

4. Sideways Communication
Options :



7311305185. 1
7311305186. 2
7311305187. 3
7311305188. 4

Question Number : 22 Question Id : 7311301300 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
7311305185. 1
7311305186. 2
7311305187. 3
7311305188. 4

Question Number : 23 Question Id : 7311301301 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What 1s defined as "performing a dangerous or wanton act that may cause injury but without the
intention to cause injury".

. Criminal rashness

| o]

. Criminal negligence

L

. Civil negligence

4. Contributory negligence
Options :
7311305189. 1
7311305190. 2
7311305191. 3
7311305192. 4

Question Number : 23 Question Id : 7311301301 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305189. 1
7311305190. 2
7311305191. 3
7311305192. 4
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Question Number : 24 Question Id : 7311301302 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
How many essential elements of PHC (Primary Health Care) has been described by the WHO?

l. Six
2. Seven
3. Eight

4. Nine
Options :
7311305193. 1
7311305194. 2
7311305195. 3
7311305196. 4

Question Number : 24 Question Id : 7311301302 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
7311305193. 1



7311305194. 2
7311305195. 3
7311305196. 4

Question Number : 25 Question Id : 7311301303 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The charitable or not-for-profit hospitals are exempted from which Act?

1. Industrial Disputes Act, 1948
2. Pavment of Bonus Act, 1956
3. Minimum Wages Act, 1948

4. Payment of Wages Act, 1936
Options :
7311305197. 1
7311305198. 2
7311305199. 3
7311305200. 4

Question Number : 25 Question Id : 7311301303 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4H g1 TR-HSRT 3RydIet &l fobg Sffga & sidiid e 4175 82
3TN faarg 3ifefam, 1948

AT DT YT T, 1956

AdH Aol T, 1948

4. TTed! YITaH Sffaf1am, 1936

Options :

7311305197. 1
7311305198. 2
7311305199. 3
7311305200. 4

—_
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Question Number : 26 Question Id : 7311301304 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is the entry point into the health system in India?

l. Primary care

b2

. Secondary care
3. Tertiary care

4. Quaternary care
Options :
7311305201. 1
7311305202. 2
7311305203. 3
7311305204. 4

Question Number : 26 Question Id : 7311301304 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FgfeiRad o O &1-91 YURd H Wy Yorlell & U4 fdig g2
1. UTfTd G@UTd

Tgdia® c@Hd

A GIRCARCE |
4. 944D TGUT

Options :

7311305201. 1
7311305202. 2
7311305203. 3
7311305204. 4

(g

(%]

Question Number : 27 Question Id : 7311301305 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The clinics which are located away from the main hospital OPD, to serve defined concentration
of populations, but having links with the main hospital are termed as:

1. Filter Clinics

b

. Selective Clinics

L

. Resource Clinics

4, Satellite Clinics
Options :
7311305205. 1
7311305206. 2
7311305207. 3



7311305208. 4

Question Number : 27 Question Id : 7311301305 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3TETE] & URUITNT Yg &1 9d1 & feid 9g iy Sl g7 Sdrd 3 Ui ST 9 R gld .
IR+ T TS & WY 39D1 I31d 91 35l g, UY deili-il B Hgl Sl ¢:

[ i N

1. e FIfh ey
 ITHSD HfbErg
3. gy fafedraa
4. Yedrse Rfeamay

Options :

7311305205. 1
7311305206. 2
7311305207. 3
7311305208. 4

[

Question Number : 28 Question Id : 7311301306 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The space required for uncluttered movement of personnel and materials within the department
between various technical work stations, rooms, stores and other auxiliary and administrative
areas 1s termed as space

. Circulation

b2

. Primary

Lad

. Secondary

4. Laboratory
Options :
7311305209. 1
7311305210. 2
7311305211.3
7311305212. 4

Question Number : 28 Question Id : 7311301306 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A deb-iids] D1 WIHI, SR, HSR T8l 3R 31 Ygd 3R U= &1 & s fqumT
gwwaﬂ?ﬂmﬁﬁﬁﬁﬁumﬁﬁ?ﬁmmwaﬁiwww
|
1. ORE=R0T
2. TYfa®
3. fgdidd

4. UINTRITE

Options :

7311305209. 1
7311305210. 2
7311305211.3
7311305212. 4

Question Number : 29 Question Id : 7311301307 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The term COPD is defined by which of the following options ?

1. Chronic Obstructive Pulmonary Disease.

I~

. Continuous Obstructive Pulmonary Disease.
3. Chronic Occlusive Pulmonary Disease.

4. Chronic Obstructive Pediatric Disease.
Options :
7311305213. 1
7311305214. 2
7311305215.3
7311305216. 4

Question Number : 29 Question Id : 7311301307 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1. 311, 1. 1. 2eg b FafiRed § 9 {69 fde e gri uRyiiid féar srar ge

1. HIF® Hieucided g Suiid
4. BID 3fisqefdeq difsaresd fasier

Options :
7311305213. 1

[
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7311305214. 2
7311305215. 3
7311305216. 4

Question Number : 30 Question Id : 7311301308 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which department is responsible for processing, sterilizing and dispensing of almost all items of
sterile equipments, sets and dressings in the hospital?

1. Central sterile source department (CSSD)

g

. Central sterile supply department (CSSD)
3. Central sterilizing supply department (CSSD)

4. Common sterile supply department (CSSD)
Options :
7311305217. 1
7311305218. 2
7311305219. 3
7311305220. 4

Question Number : 30 Question Id : 7311301308 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ST H fSifarfd U vl 9e 3R ST B eyt gt aed el & UEEn,
ASIATOen 0T 3fR T4aR01 & feU & H-91 Ay STRaM! g2

. Held foifare Jid faHm & Ta Ta 3
.o [sifare smafd Gy @& T Ty 3

. Harg FSar®R gfd faue (@ T Ty 3)
4. 9 iAo 3Mgfd faurT (@ g g 3

Options :

7311305217. 1
7311305218. 2
7311305219. 3
7311305220. 4

(S

[E]
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Question Number : 31 Question Id : 7311301309 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the Act that deals with the establishment of pharmacies and drug stores and with the
profession of pharmacists.

1. The Pharmacy Act, 1948

(R

. The Pharmacist Act, 1958
3. The Pharmacy Act, 1940

4. The Pharmacist Act, 1948
Options :
7311305221. 1
7311305222.2
7311305223.3
7311305224. 4

Question Number : 31 Question Id : 7311301309 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Bwa{@%‘?mﬂﬁamaﬁﬁuﬂﬁ@ah?qdi @1 Gl BT R 3R BT & U Y
YefUd g

1. BT e, 1948
. BHINEE AfUfaH, 1958
3. BTHE A, 1940
4. THITERE 3MffTaH, 1948

Options :

7311305221. 1
7311305222.2
7311305223.3
7311305224. 4

(]

Question Number : 32 Question Id : 7311301310 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which term defines the services that include the laundering of linen, storage of clean linen and
repair and replacement of all linen in a hospital?

1. Linen and Laundry Service

| o]

. Cleaning Service

L

. Linen remodelling Service

4. Washing Service
Options :
7311305225. 1



7311305226. 2
7311305227. 3
7311305228. 4

Question Number : 32 Question Id : 7311301310 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D91 e, 37 Y134t BT gRUINT Hd1 © o8 foma & 9%, I fof &1 USRI 3R
drd H gt o9 &1 AR 3R UidRTaH e g2

1. T SR BUS 41H BT el
. UPIS Ul

AREERCICEI UG

4. ¢fclls 9l

Options :

7311305225. 1
7311305226. 2
7311305227. 3
7311305228. 4

[

Tl

Question Number : 33 Question Id : 7311301311 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The National Building Code of the ISI suggests litres of water per consumer day (LPCD) for
hospitals up to 100 beds.

1.353

h

]

3D
3. 400

4. 435
Options :
7311305229. 1
7311305230. 2
7311305231.3
7311305232. 4

Question Number : 33 Question Id : 7311301311 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TS, T, 31, & AP Ha AFT & IR 100 e 9 & Ruaral & g ufa Suwia
fe (v, o, 1. SNy iex U &1 ST g @R

L
.
o
o

4. 455
Options :
7311305229. 1
7311305230. 2
7311305231. 3
7311305232. 4

Question Number : 34 Question Id : 7311301312 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A systematic step by step approach intended to achieve the desired functions of a produect.
process, system or service at an overall minimum cost without in any way affecting quality,
reliability, performance, delivery or safety of environment is termed as engineering.

1. Value

3

. Critical
3. Service

4. Systematic
Options :
7311305233. 1
7311305234.2
7311305235.3
7311305236. 4

Question Number : 34 Question Id : 7311301312 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TAaRu1 &1 Tura, faya-ad, UaxH, fadavor a1 gReq &l fad! 4l UeR 4 uyiidd feu famn
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Options :

7311305233. 1
7311305234.2
7311305235.3
7311305236. 4

Question Number : 35 Question Id : 7311301313 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following measures the hardness of water for different salts?

1. parts per million

]

. parts per trillion

Lad

. parts per thousand

4. parts per hundred
Options :
7311305237. 1
7311305238. 2
7311305239. 3
7311305240. 4

Question Number : 35 Question Id : 7311301313 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FfeRad # U S H-T1 fafi= vl & o1 STd &1 HaIRdl &I {1l 82
1. U1 ufd faferga

. HIT Ofd feferam

 HIATUfd g9
4. HITUfq 91

Options :

7311305237. 1
7311305238.2
7311305239. 3
7311305240. 4

b2

S

Question Number : 36 Question Id : 7311301314 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which inventory management means that inventory supplies are delivered as soon as needed by
the health care organization, the prescribing doctor, or the patient?

1. JIT inventory management

]

. MIT inventorv management

L

. CIT inventory management

4. AIT inventory management
Options :
7311305241. 1
7311305242.2
7311305243. 3
7311305244. 4

Question Number : 36 Question Id : 7311301314 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{9 il gae &1 Odad ¢ fob Ty g@yTe Y-, Feiid &3 a1l Sidex a1 00 &1 gl
DI TR D1 Y[ AT US4 TR TUTRIH Sl el 82

S 3f1g 7 gl gde
 UH 318 1 gl udeH
T 31 1 gl veeH
4. T 313 <1 Gl UeleA

Options :

7311305241. 1
7311305242. 2
7311305243.3
7311305244. 4

[—
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Question Number : 37 Question Id : 7311301315 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Michael Porter competitive strategies take into account how many forces for understanding the
underlying fundamentals of competition ?

l. Two

R

. Three
3. Four
4. Five

Options :
7311305245 1



7311305246. 2
7311305247. 3
7311305248. 4

Question Number : 37 Question Id : 7311301315 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hiedhd Uier Uideadf ToMifaal i & siafiigd ga Rigidl &1 9u3H & o fha- gl
DI 1 T Il 82

1.l
2.
3.9

4.9
Options :
7311305245. 1
7311305246. 2
7311305247.3
7311305248. 4

Question Number : 38 Question Id : 7311301316 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CT is a specialised X-ray examination. CT stands for ?

1. Computed Tomography

-

. Computer Tomography

L

. Computed Totalgraphy

4. Computer Totalgraphv
Options :
7311305249. 1
7311305250. 2
7311305251. 3
7311305252. 4

Question Number : 38 Question Id : 7311301316 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



idl o 929 Uay ¥ gRieur g1 9t &1 &1 31 g2
. SIS SHUATHI
. IR UG
. HUCS CledUTh]
4. U Cleadihl
Options :
7311305249. 1
7311305250. 2

7311305251. 3
7311305252. 4

—
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Question Number : 39 Question Id : 7311301317 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is not the technique of management and control of inventories?

1. ABC analysis

b2

. VED analysis
3. Economic order quantity

4. BCG analysis
Options :
7311305253. 1
7311305254.2
7311305255.3
7311305256. 4

Question Number : 39 Question Id : 7311301317 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFrafeiiad o U SH-U Yl & Ueer 3R a0 &1 dhb-iid ol 62
Qo1 i foermon

At S 31 fazamuy

3. D ST A

4. <1 i Sff fazeiyoy

Options :

7311305253. 1
7311305254. 2
7311305255.3
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7311305256. 4

Question Number : 40 Question Id : 7311301318 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The infection that develops in admitted patients after more than 48 hours of hospitalization is
termed as infection.

[

. Cytotoxic

| o]

. Comprehensive

L

. Nosocomial

4. Community
Options :
7311305257. 1
7311305258.2
7311305259. 3
7311305260. 4

Question Number : 40 Question Id : 7311301318 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3RO ® Ul 8 & 48 9¢ T 3HiEd g & 91 Yl AR H Sl YehHul fabid glar g, 39
Y HU Hglolidl g

1. DIADT AT

3 ST

4. IS
Options :
7311305257. 1
7311305258. 2
7311305259. 3
7311305260. 4

]

Question Number : 41 Question Id : 7311301319 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which Act provides a simple, speedy and inexpensive redressal for consumer grievances relating
to defective goods, deficient services and unfair trade practices?

. Customer Protection Act

]

. Consumer Protection Act
3. Consumer Grievances Act

4. Service Protection Act
Options :
7311305261. 1
7311305262. 2
7311305263. 3
7311305264. 4

Question Number : 41 Question Id : 7311301319 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D91 T Syl axgeil, TId Yarsi R 3ff<d AR Ty1si ¥ Yeftd Juidd
RISl & o U ORd, @Rd 3R &1 HaRU UGH &l o2

AT W& HfafgH

. SUHIGT R4 ifafaH
3. JuHiedl i sifefay
4. Qa1 R Afafgs

Options :

7311305261. 1
7311305262. 2
7311305263. 3
7311305264. 4

[—
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Question Number : 42 Question Id : 7311301320 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which committee will have the responsibility for monitoring the occurrence of hospital infection
and recommend corrective action?

[—

. Hospital Control Committee

b2

. Infection monitoring Committee

L

. Hospital monitoring Committee

4. Infection Control Committee
Options :
7311305265. 1



7311305266. 2
7311305267. 3
7311305268. 4

Question Number : 42 Question Id : 7311301320 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b T & UMY Sdrel § HhH0 &1 91 Bl TR B R GURIHS BRATS DI
EIRD & S fSeRl giflo

1. 3dTel gz it
2. U HU UdieA Iifd
3. AT Ydiy= 9iAfd

4. Hep T (dA07 gitifd
Options :
7311305265. 1
7311305266. 2
7311305267. 3
7311305268. 4

Question Number : 43 Question Id : 7311301321 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which Act implemented in 1996 includes provisions related to insurance, privacy, security,
transactions, and code sets?

1. HIPAA

g

. NIPAA
3. LIPAA

4. RIPAA
Options :

7311305269. 1
7311305270. 2
7311305271. 3
7311305272. 4

Question Number : 43 Question Id : 7311301321 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1996 H TN foT U fory iferferam & o, oo, [Rer, dFed iR ol e § Yafid
TG M g2
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ARy
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Options :

7311305269. 1
7311305270. 2
7311305271. 3
7311305272. 4

[

(]

%]

Question Number : 44 Question Id : 7311301322 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The matrix designed to apply the traditional public health domains of host, agent, and disease to
primary, secondary, and tertiary injury factors is termed as matrix.

1. Headon

[

. Seddon
3. Haddon

4. Healthon
Options :
7311305273. 1
7311305274. 2
7311305275. 3
7311305276. 4

Question Number : 44 Question Id : 7311301322 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

7311305273. 1
7311305274. 2
7311305275.3
7311305276. 4

Question Number : 45 Question Id : 7311301323 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which tag indicates a seriously injured patient who requires some medical stabilization in the
field prior to transportation, but whose life is not immediately threatened?

1. Red tag

ta

. Yellow tag

L

. Green tag

4. Orange tag
Options :
7311305277. 1
7311305278. 2
7311305279. 3
7311305280. 4

Question Number : 45 Question Id : 7311301323 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D91 A1 14R =Y 9 9rd 0 bl SFTd dxdl g 154 gRdg 9 Ugd &3 J $3 e
FRRIHI0T DI SHTa=Ghdl Bldl 8, i ST Sila- qid War § 781 g2

1. ST T
2. Ylefr &
3.3

4. AR &

Options :

7311305277. 1
7311305278. 2
7311305279. 3
7311305280. 4

Question Number : 46 Question Id : 7311301324 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the definition of epidemiology given by different authors in a chronological order
starting from oldest to the latest definition.

A. That branch of medical science which treats epidemics (Parkin).

B. The study of disease, any disease, as a mass phenomenon (Greenwood)

C. The science of the mass phenomena of infectious diseases (Frost)

D. The study of the distribution and determinants of disease frequency in man (MacMahon).

Choose the correct answer from the options given below:

LA B, C.D

]

ACBD

L

.B.A.D.C

4. C.B,D,A
Options :
7311305281. 1
7311305282. 2
7311305283. 3
7311305284. 4

Question Number : 46 Question Id : 7311301324 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafts kgl gR1 S 715 HeTaR] a3 & URYINT &1 Gy QR ¥ ddR TAdi-ad RUTN ddh
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L.AB,C. D

(o]
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Ll

ByA PO

4.C,B.D. A
Options :
7311305281. 1
7311305282. 2
7311305283. 3
7311305284. 4



Question Number : 47 Question Id : 7311301325 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Control programmes are designed to meet the unique needs of each country's health care system,
its resources and priorities. Arrange the steps involved from start to end sequentially.

A. Establishing Priorities
B. Problem Definition

C. Considering Strategies
D. Setting Objectives

Choose the correct answer from the options given below:

L. 5B, E, D
2.A,C,B,D
3.B.A,D,C

4.C,B,D, A
Options :
7311305285. 1
7311305286. 2
7311305287. 3
7311305288. 4

Question Number : 47 Question Id : 7311301325 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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B A T

4.C,B,D, A
Options :
7311305285. 1
7311305286. 2



7311305287. 3
7311305288. 4

Question Number : 48 Question Id : 7311301326 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Nalgonda technique for defluoridation of water involves the following steps. Arrange them
sequentially from first to last step.

A Addition of two chemicals (lime and alum)
B. Sedimentation

C. Flocculation

D. Filtration

Choose the correct answer from the options given below:

L.AB,C. T

[

AR, D

%]

By A D, C

4.C,B,D, A
Options :
7311305289. 1
7311305290. 2
7311305291. 3
7311305292. 4

Question Number : 48 Question Id : 7311301326 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ST & FARIFERUN o ol FernisT a1 § FHafaRad @Ror iad §1 33 Ugd ¥ 3ifdd @R
d® Bild U Y Halyd dil
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D. e
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]

LAC,B.D

4

“BADC

4.C,B,D, A
Options :



7311305289. 1
7311305290. 2
7311305291. 3
7311305292. 4

Question Number : 49 Question Id : 7311301327 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following steps in a sequential manner from beginning to end for the biomedical
waste management processes.

A. Segregation
B. Packaging

C. Transportation
D. Storage

Choose the correct answer from the options given below:

L.AB,C.D

o]

ACBD

3.B,AD,C

4.C.B,D,A
Options :
7311305293.
7311305294.
7311305295.
7311305296.

N S R

Question Number : 49 Question Id : 7311301327 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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- feu MU fas et # 9 Wt SR I+H:
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T

BA O

4.C,B.D. A
Options :
7311305293. 1
7311305294. 2
7311305295. 3
7311305296. 4

Question Number : 50 Question Id : 7311301328 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the four stages in the life cycle of mosquito from the first stage to the last stage.

A. Adult
B. Larva
C.Egg

D. Pupa

Choose the correct answer from the options given below:

L8 B, C. 1D

(]

LGB, D
3.B,A,D,C

4.C,B,D. A
Options :
7311305297. 1
7311305298. 2
7311305299. 3
7311305300. 4

Question Number : 50 Question Id : 7311301328 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

33 & g =eb H Ugel =R U 3ifqH =RUI dh IR =RUN & HdRed B |

A. IO
B. o4l
C. 3T
D. &l
4 fqu T fas et 7 9 w8t SR I+:

1.A,B,C,D

R

A, C,B,D

Tl

By A, D C

4.C,B,D, A
Options :
7311305297. 1
7311305298. 2
7311305299. 3
7311305300. 4

Question Number : 51 Question Id : 7311301329 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the levels of prevention in relation to the natural history of disease.

A. Primordial prevention
B. Secondary prevention
C. Primary prevention
D. Tertiary prevention

Choose the correct answer from the options given below:

1.A,B,C, D

bz

AC, B, D

T

B, A D, C

4.8, DA
Options :
7311305301.
7311305302.
7311305303.
7311305304.

AW N =

Question Number : 51 Question Id : 7311301329 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



RIS Whidd A & Ydel ¥ Ah UM & TR BT HdYd D |
A. 3T UHYH

2 fo Ty fed! & @ w SR

1.A B C.D

[E]

A C, B D

Ll

: By A D C

4.C,B,D. A
Options :
7311305301. 1
7311305302. 2
7311305303. 3
7311305304. 4

Question Number : 52 Question Id : 7311301330 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Government of India has introduced a series of programines to address maternal and
newborn health. Arrange the major milestones in chronological order from oldest to new.

A. Child Survival and Safe Motherhood Programme
B. National Health Mission

C. National Rural Health Mission

D. India Newborn Action Plan

Choose the correct answer from the options given below:
kBB
2.A,C,B,D
3.B.A,D,C

4.C.B,D,A
Options :
7311305305. 1
7311305306. 2
7311305307. 3
7311305308. 4

Question Number : 52 Question Id : 7311301330 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

YR RPR A aﬁ?ﬂﬂﬂﬁﬁ@ﬂﬁﬂﬁfﬁﬂﬂﬂﬁ%ﬁﬂﬁﬁ?ﬁﬁﬂ%ﬁm%m
Iﬂaé?qar@fﬁw@[gﬂﬁﬁﬂq dd BIdHD D HH H AT D

A. dTd Favsiifdd SR GRI&d Aldd drishy
B. P WA A3
C. BT Ty e fiRe
D. HRd AdTd I T
14 feu e g gl § 9 98t STk I

L.AB,C, 1T

[

SRR, D

(%]

ByA PO

4.C,B,D, A
Options :
7311305305. 1
7311305306. 2
7311305307. 3
7311305308. 4

Question Number : 53 Question Id : 7311301331 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange in chronological order from oldest to new, the notable hospitals established in the
western world in the ancient times.

A. Bartholomew’s Hospital
B. Bellevue Hospital

C. Pennsylvania Hospital
D. Massachusetts Hospital

Choose the correct answer from the options given below:

1.LA,B.C.D

b2

A, C,B.D

L

.B.A.D.C

4.C,B,D, A
Options :
7311305309. 1
7311305310. 2
7311305311. 3
7311305312. 4



Question Number : 53 Question Id : 7311301331 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U Tad | aiEd! gi-ar 8 RfUd S SRl & 94 IR § U T8 Bl b
1 T HaRYd |

A. SIY[AHT BT RGdTd

B. SiqU AT
C. Uf_Ted =1 3rgard

D. UMY 3Rl
I feu v fgded! @ 9 9t 3R g

L.AB,C, D

[

ARG, R, D

[F%]

BiA PO

4.C,B.D, A
Options :
7311305309. 1
7311305310. 2
7311305311. 3
7311305312. 4

Question Number : 54 Question Id : 7311301332 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the steps in sequential manner as followed for Programme Evaluation and Review
Technique (PERT).

A. Planning

B. Organising

C. Scheduling,

D. Coordinating and Controlling

Choose the correct answer from the options given below:

I.AB, €D

o]

AL, B,D

L

.B.A.D.C

4.C.,B,D. A
Options :
7311305313. 1
7311305314. 2
7311305315.3



7311305316. 4

Question Number : 54 Question Id : 7311301332 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

%J;hi—l i 3R GHIEN dh-id (0. 3. 3R, 1) & U it dlid Y =Rl &1 HafRid
|

A, GISHET S9HT
B. TS

C. I

D. Y99 3R 7700

1 feu e fgs gl § O 98t SR I

1.A,B,C,D

(]

A C.B,D

T

B A 10

4.C,B.D. A
Options :
7311305313. 1
7311305314. 2
7311305315.3
7311305316. 4

Question Number : 55 Question Id : 7311301333 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the activities at CSSD in a sequential manner for effective maintenance of sterilization.

A. Washing, cleaning and drying
B. Receipt of used supplies

C. Packing

D. Sorting

Choose the correct answer from the options given below:

L. & B, C. 1D

]

A0, B D
3.B,A,D C

4.C,B,D, A
Options :
7311305317. 1
7311305318.2



7311305319. 3
7311305320. 4

Question Number : 55 Question Id : 7311301333 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W%ﬂﬂwimﬁwwﬁﬁmﬁﬁﬁmﬁﬂm@m
|

A. ¢S, GBTg 3R @M
B. SUANT &1 713 3M1Yfd &1 uifed
b, et
i feu e fased! 7 O 99t STk I

L AB . D

-2

.A,C,B,D

T

ByA PO

4.C,B,D, A
Options :
7311305317. 1
7311305318. 2
7311305319. 3
7311305320. 4

Question Number : 56 Question Id : 7311301334 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Select the characteristic features of marketing from the following.

A. Marketing 1s a management process.

B. Marketing offers and exchanges ideas. goods or services.

C. Marketing involves raising the pricing irrespective of the customer's demand.
D. Marketing is identifying and anticipating customer’s requirements.

Choose the correct answer from the options given below:

1. A. B and D only

bz

. A, Band C only

T

CA.B.CandD

4. B. C and D only
Options :
7311305321. 1



7311305322. 2
7311305323. 3
7311305324. 4

Question Number : 56 Question Id : 7311301334 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faqur @1 fa=ivarsi &l FafdRad | 9 3idi -

A. T s e Ui ar |

B. faUuH faaRy, a3l a1 Yarsdi &1 Udid 3R 9 mg edr gl
c. fquuE 4 Urge @1 |l &1 RdTg U {6941 9 1S gl g

D. [dUUH Uigd &1 fgadh il & YgdH 1R GalqaH &1 g |

- fqu MU fas et # © Wt SR I+:
. HAdA. B3R D
. Hhdd A. B3R C

A.B.C3RD

4. HId B, C 3R D
Options :
7311305321. 1
7311305322. 2
7311305323.3
7311305324. 4

]

Ll

Question Number : 57 Question Id : 7311301335 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The basic ethical principles in critical care medicine include :

A. Beneficence

B. Patient autonomy
C. Justice

D. Maleficence

Choose the correct answer from the options given below:
1. A.Band D only
2. A.Band C only
3A.B.Cand D
4. B. C and D only

Options :
7311305325. 1



7311305326. 2
7311305327.3
7311305328. 4

Question Number : 57 Question Id : 7311301335 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hifdd cauTd Ffean | gayd -fae fagial J i g

A. ST
B. AT WAl
C. A

D. TSI

i feu U fadhetl © O T8t SR 94
. HAdA. B3R D
. hdd A. B3R C

A.B.C3RD

4. HId B, C 3R D
Options :
7311305325. 1
7311305326. 2
7311305327.3
7311305328. 4

-2

Ll

Question Number : 58 Question Id : 7311301336 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The colour coding of waste categories for disposal of biomedical waste include:

A. Green
B. Yellow
C. Blue
D. Black

Choose the correct answer from the options given below:

1. A.Band D only

b2

. A, B and C only

LS

A.B,CandD

4. B. C and D only
Options :
7311305329. 1



7311305330. 2
7311305331. 3
7311305332. 4

Question Number : 58 Question Id : 7311301336 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oig fafde afRy & FAueE & fou SRy Sior & 31 SIfST | Wi 6:

Al

B. Ulal
. dieln
D. DIl

1 feu e faseal & 9 ugt IR I
1.PdA A, B 3R D

. $Hdd A, B3R C

.A,B,C3RD

4. $dd B, C IR D
Options :
7311305329. 1
7311305330. 2
7311305331.3
7311305332. 4

(R

LS

Question Number : 59 Question Id : 7311301337 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Operation theatre is planned on the concept of zones. predicted on the types of activities,
patterns of circulation and degree of sterility to be maintained.They are:

A. Disposal zone

B. Protective zone

C. Autonomous zone
D. Sterile zone

Choose the correct answer from the options given below:

1. A, B and D only

(]

. A, Band C only

(7%

.A,B,Cand D

4. B. C and D only
Options :



7311305333. 1
7311305334. 2
7311305335. 3
7311305336. 4

Question Number : 59 Question Id : 7311301337 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

STIRR fITeR &t Ao &5 &1 SR IR 9418 7T ©. Sl fb Tfafafiat & ueR, uRe=ro
& Ued 3R [Sllamudhd $f Sife Yuiftd gi4 IR eiRd gid 8. 3 & &

A FgeF ea
B. el e
C. g &F

D. FSildIu® &7
i fgu e fasenl o 9 gt IR -
1.PdAA, B 3R D
Hdd A, B AR C

[

_A.B.C3RD

4. P9 B, C 3R D
Options :
7311305333. 1
7311305334. 2
7311305335.3
7311305336. 4

[y

Question Number : 60 Question Id : 7311301338 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
High efficiency particulate air (HEPA) filters have the following characteristic features:

A. They are dry type filter.

B. Nonreusable filter.

C. Remove 99.9 per cent of airborne particles.
D. Remove dust, pollen. mold and bacteria.

Choose the correct answer from the options given below:

1. A, B and D only

]

. A, Band C only
33J)AB . CandD

4. B. C and D only



Options :

7311305337. 1
7311305338.2
7311305339. 3
7311305340. 4

Question Number : 60 Question Id : 7311301338 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I &l dTcd U1 d1g (T4, 5. Ul T,) fheex | TufeiiRgd fa=ivand gidl ¢:

A. JE D UHR & [heeX B

B. TR-G: U4 fiheeX g |

C. 99.9 UdRId IIgSId DUl hl geld g |
D. ¢[cl, TRIT, BhG 3R a1 &l gerd § |

-1 f§U Y fadeul o © 98t SR -

1.hdd A, B3R D
$Hdd A, B3R C
_A.B,C3RD

4. Hdd B, C AR D
Options :
7311305337. 1
7311305338.2
7311305339. 3
7311305340. 4

[

L]

Question Number : 61 Question Id : 7311301339 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Administrative Departments in the Hospital include:

A. Accounts department
B. Linen and laundry department
C. General OPD

D. Housekeeping
Choose the correct answer from the options given below:

1. A. B and D only

2

. A, B and C only

LN

A.B.CandD

4. B, C and D only



Options :

7311305341. 1
7311305342.2
7311305343.3
7311305344. 4

Question Number : 61 Question Id : 7311301339 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3ard | U= [y | e g

A. T faumT
B. 694 3R ®YS ¢l & faum
C. qrEEg 3. b1, 2.

D. SI3UDIMT

- fqu MU fas et # © wgt SR I+:
1.Pdd A, B3R D

. hdd A, B3R C

A.B.C3RD

4. $Hdd B, C 3R D
Options :
7311305341. 1
7311305342.2
7311305343. 3
7311305344. 4

]

Ll

Question Number : 62 Question Id : 7311301340 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A management decision model comprises of the following elements:

A. A clear idea of what is to be achieved

B. An appreciation of nonresource constraints

C. An identification of risk factors

D. A comparison of payoff value with input costs.

Choose the correct answer from the options given below:

1. A.Band D only

b2

. A, B and C only

LS

A.B,CandD

4. B. C and D only



Options :

7311305345. 1
7311305346. 2
7311305347.3
7311305348. 4

Question Number : 62 Question Id : 7311301340 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U% YaeH Holg Al ° HyfaRad dd iiad gid ¢

A. &1 BN a1 ST g 3961 W [ddR
B. TR-Tq1eH d1413] &l i

C. SIIRGH HRSD| BI UgdH

D. a2 dFTd & |1y YITdH Yol bl gl

1 feu e fasel 7 9 gt IR I
1.PdA A, B 3R D

. Hdd A, B3R C

.A,B,C3RD

4. $Hdd B, C IR D
Options :
7311305345. 1
7311305346.2
7311305347.3
7311305348. 4

b2

LS

Question Number : 63 Question Id : 7311301341 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Some of the syndromes associated with abnormalities of sex chromosomes are:

A. Cerebral palsy

B. Klinefelter's syndrome
C. Turner's syndrome

D. Super females

Choose the correct answer from the options given below:

1. A. B and D only

]

. A, B and C only

Lad

CA.B.CandD

4. B. C and D only



Options :

7311305349. 1
7311305350. 2
7311305351. 3
7311305352. 4

Question Number : 63 Question Id : 7311301341 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TE7T TR BT SIS O OIS $% Y40 39 UPR o

A JHIETSS 91d

B. Flgh e} [HsH
c. TR g

D. fer=man

1 feu e fasel 7 9 gt IR I
1.Pdd A, B AR D

. $dd A, B3R C

.A,B,C3RD

4. $Hdd B, C IR D
Options :
7311305349. 1
7311305350. 2
7311305351.3
7311305352. 4

b2

LS

Question Number : 64 Question Id : 7311301342 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Health care has many characteristics: they include:

A. Appropriateness
B. Adequacy

C. Apprehension
D. Affordability

Choose the correct answer from the options given below:

1. A. B and D only

]

. A, B and C only

Lad

CA.B.CandD

4. B. C and D only



Options :

7311305353. 1
7311305354. 2
7311305355.3
7311305356. 4

Question Number : 64 Question Id : 7311301342 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A, 3

B. 3Ugdddl
C. BT

D. Il
1 feu e fasel 7 9 gt IR I
1.PdA A, B 3R D
. Hdd A, B3R C
.A,B,C3RD

4. $Hdd B, C IR D
Options :
7311305353. 1
7311305354.2
7311305355.3
7311305356. 4

b2

LS

Question Number : 65 Question Id : 7311301343 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Soclo-economic determinants of Health include:

A. Economic status
B. Education

C. Political system
D. Gender

Choose the correct answer from the options given below:

1. A. B and D only

]

. A, B and C only

Lad

CA.B.CandD

4. B. C and D only



Options :

7311305357. 1
7311305358. 2
7311305359. 3
7311305360. 4

Question Number : 65 Question Id : 7311301343 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ & gHESS-3$ FMuRe! | i g

A, 3Ti® Rt

B. fRram

C. Ya-Tfdd Homet
D. fcif

- feu U fasedl o 9 w8t SR I
1.Hdd A, B 3R D

AT A, B3R C

.A.B.C3RD

4. $dd B, C 3R D

Options :

7311305357. 1
7311305358. 2
7311305359. 3
7311305360. 4

I~2

Ll

Question Number : 66 Question Id : 7311301344 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II

LISTI
(Categories of
Zoonoses)

LIST-II
(Tvpe of life cycle of the infecting organism)

Transmitted from an infected
A | Direct zoonoses | I. |vertebrate host to a susceptible
vertebrate host.

Requires more than one vertebrate
host species, but no invertebrate
host. in order to complete the
developmental eycle of the agent.

B.|Meta-zoonoses II1.

Transmitted biologically by

C.|Cyclo-zoonoses |[IIL.|. i
e mvertebrate vectors.

Have both a vertebrate host and a
D | Sapro-zoonoses | IV. |non-animal developmental site or
reservoir.

Choose the correct answer from the options given below:

1LA-LB-ILC-ILD-IV

[

A-LB-TLC-II,D-IV

ad

A-LB-ILC-IV,D-1III

4 A-IMLB-IV.C-1.D-1I
Options :
7311305361. 1
7311305362. 2
7311305363. 3
7311305364. 4

Question Number : 66 Question Id : 7311301344 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TS Shitd HUSHI
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A. | Tge wifurssn L. | G in oa
OolaH § Uiud
usic & fadb e g 3l
RIHA b U s ¥
HUBDH| HAGH
B. | HeT-HIfUrsal IL. | oiicdl & HTaRgddl
Bidl 8. Al sipTd]
AoTdE &I ATaegdhdl
TEI gl s
C. | arsadl-uiuresT TII. ?%}Q'ﬁ%ﬁ“‘ﬁg'“

TS HIBH! AoaH AR
D. | YI-HTiORST IV. | U TR-UY] f[dr &/
MUSR AT G &

A1 fGU U fasenl H O H5! 3R 9

1LA-LB-ILC-II,D-1IV

I

A-LB-ILC-I,D-1IV

[F%]

CA-LB-ILC-IV,D-III

4 A-IILB-IVC-1.D-1I
Options :
7311305361. 1
7311305362. 2
7311305363. 3
7311305364. 4

Question Number : 67 Question Id : 7311301345 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II

LIST-1 LIST-II
(Classification of {Characteristics of types of
Anthropology) Anthropology)

The study of the total way of life

Physical of contemporary primitive man,

A E |G R
Anthropology his ways of thinking. feeling and
action
; Deals with the cultural
Social

B. II. | component in the ecology of
Anthropology : =
= health and disease.

The study of human evolution.
Cultural racial differences. inheritance of

s Anthropology ik bodily traits, growth and decay
of the human organism
Medical The study of the development
D. v : L
Anthropology and various types of social life

Choose the correct answer from the options given below:
1. A-L, B-II, C-IMI, D-IV
2. A-1, B-1II, C-1I, D-IV
3. A-L B-II, C-1IV, D-TII

4. A-IIL B-IV., C-1. D-1I
Options :
7311305365. 1
7311305366. 2
7311305367. 3
7311305368. 4

Question Number : 67 Question Id : 7311301345 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 & G1Y G-I DI el i

I -1 .
AT F aifewn | aREE F rerl 9t iR
UG ffEH 7= & SiidT
i & Y i, 3 diE,
B fiawm (1 Ty B SR B B &
GREAEARE I pE]
W SR A &1 Uik
B. |G Jfaq | 1L | H Fipide e 9 FEivd
BIdTe
o |Fepla® 1y | SRIRE Q4101 1 SrTia,
NEIEEL |94 Sitd &1 9fG SR & &1
T
| R ARE TR &
D. | fagm |1v. S
1 fGu U fashenl # U Fol IR I

1. A-I, B-II, C-IIL, D-1IV

2. A1, B-III, C-I1, D-IV

3. A-L B-II, C-IV, D-III

4. A-IIT, B-1V, C-1, D-1I
Options :
7311305365. 1
7311305366. 2
7311305367. 3
7311305368. 4

Question Number : 68 Question Id : 7311301346 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II

LIST-1 LIST-II

(Term) (Definition)

Validated process used to render a
product free of all forms of viable
microorganisms including
bacterial spores.

A | Sterilization L

Substance that prevents or arrests
the growth or action of micro-
organisms by inhibiting their
activity or by destroying them.

B.| Antiseptic II.

Usually a chemical agent (but
sometimes a physical agent) that
destroys disease causing
pathogens or other harmful
microorganisms. but might not
kill bacterial spores.

C.| Germicide I11.

Agent that destroys micro-
D.| Disinfectant IV. |organisms. especially pathogenic
organisms.

Choose the correct answer from the options given below:

1LA-LB-ILC-IILLD-1IV

ta

A-LB-ILC-ILD-1IV

T

A-LB-II,LC-1IV,D - III

4 A-IIILB-IV.C-1.D-1I
Options :
7311305369. 1
7311305370. 2
7311305371. 3
7311305372. 4

Question Number : 68 Question Id : 7311301346 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1.A-LB-ILC-IIIL,D-IV

2A-LB-IILC-IILD-1IV
3.JA-LB-ILC-IV,D-III

4 A-NMILB-IV.C-1LD-1II
Options :
7311305369. 1
7311305370. 2
7311305371. 3
7311305372. 4

Question Number : 69 Question Id : 7311301347 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II

LIST-I LIST-II
(ACT Applicable to Hospitals) (Year of Implementation)
e Indian Medical Couneil 1 1036
Act
B.|Indian Nursing Counecil Act | II. | 1947
C.|Minimum Wages Act III.]11948
D.| Mental Healthcare Act IV.|2017

Choose the correct answer from the options given below:

.LA-LB-ILC-IIL,D-IV

b2

A-LB-IILLC-II,D-1IV

Lad

A-ILB-1,C-IV,D - 111

4 A-NIIILB-IV,C-1.D-1I
Options :
7311305373. 1
7311305374. 2
7311305375.3
7311305376. 4

Question Number : 69 Question Id : 7311301347 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 BT g1 & 1Y e &
G-I -1
(SEETE § @R 1 aren sifufam (PTaaT BT
R i giug :
A e I [1956
YR AR ufeg :
B. | P II. | 1947
C. |Tmamaegdt sfafas || 1948
D. |Hcd gRBmR Uae V.| 2017
i feu e fadedl ¥ 9 g8t I 3.

l.LA-LB-ILC-IIILD-1IV

]

A-LB-MC-TLD-1IV

Y]

CA-ILB-LC-IV,D-1III

1=

A-MILB-IV,C-LD-IO



Options :

7311305373. 1
7311305374. 2
7311305375.3
7311305376. 4

Question Number : 70 Question Id : 7311301348 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-I with LIST-II

LIST-I LIST-1I

(Committee) (Year)
A | Mudaliar committee I. | 1962
B.|Kartar Singh commuttee II. | 1975
C.| Shrivastav committee II1.]1973
D.| Jungalwalla commuttee IV.| 1967

Choose the correct answer from the options given below:

1.LA-LB-ILC-III,D -1V

2

A-LB-IILLC-IILD-1IV

(ad

A-LB-IILC-IV,D III

4 A-IIILB-IV.C-1.D-1II
Options :
7311305377. 1
7311305378. 2
7311305379. 3
7311305380. 4

Question Number : 70 Question Id : 7311301348 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 & G1Y G-I DI el i

= =

A. | gaferR wiafd L |1962
B. |®xdR Rig 9fifd 11. | 1975
C. | dtaria 9fafd II.|1973
D. | SitTerdTa |iffd IV.|1967

13 fow e fred! 7 @ wd SR,

1.LA-LB-ILC-IILD-1IV

[

CA-LB-UILLC-IILD-IV

T

A-LB-ILC-IV,D III

4 A-III.LB-IV.C-1.D-1I
Options :
7311305377. 1
7311305378. 2
7311305379. 3
7311305380. 4

Question Number : 71 Question Id : 7311301349 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-T with LIST-II

LIST-1 LIST-IT
{Institution) (Functional Level)
A | Panchavat I Pu?lction at the district
E level
o Adviser to the Uni
B.|Panchayat Samiti II. | - \_ISEI ke
- Government
. , Funeti t the villag
C.| Zilla Parishad . u?w R EEIRaET)
level
Directorate General of _|Function at the block
D. : I'v.
Health Services level

Choose the correct answer from the options given below:

1LA-LB-ILC-IIILD -IV

| ]

A-LB-ILC-ILD-1IV

L

CA-LB-ILC-IV.D - III

L

CA-IILB-IV,C-1,D-1T



Options :

7311305381. 1
7311305382.2
7311305383. 3
7311305384. 4

Question Number : 71 Question Id : 7311301349 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 & 91y -1 &l Gl i

T E-n
R ik
A |d9mad L | TR RS
B. |d=mgd gfafd II. | g PR & YaloBR
C. |fSrar ufveg I11. | 71fd & TR W B
D. | ey Jar ggilacueay IV, |8 TR W EH
i fqu U g el # O I8! SR 4

1.LA-LB-ILC-IILLD-1IV

]

CA-LB-ILC-II,D -1V

T

CA-LB-ILC-IV,D-III

4 A-IILB-IV.C-1.D-1I
Options :
7311305381. 1
7311305382.2
7311305383. 3
7311305384. 4

Question Number : 72 Question Id : 7311301350 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II

LIST-1 LIST-II
(Tvpe of Waste) (Classification)
A | Type 0 Waste I. | Trash
B.|Type 1 Waste II. | Rubbish
C.| Type 2 Waste III. | Garbage
D.| Type 3 Waste IV. | Refuse

Choose the correct answer from the options given below:

1L.A-LLB-ILLC-II,D-IV

ta

A-LB-ILC-ILD-1IV

LS

A-LB-II,C-1IV,D - III

4 A-IIILB-IV,C-1.D-1I
Options :
7311305385. 1
7311305386. 2
7311305387. 3
7311305388. 4

Question Number : 72 Question Id : 7311301350 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 & 91 a1 &1 HdH SIfee:

(&ru%?aﬂﬂlwm "
A.|eBY 0 3Ry i
B. |25 1 39fyy 1. |3fa=
C. |28y 2 Uiy I | Tt
D.|e15Y 3 3Ry Iv. | R
A1 fGu U f[asenl | U g8l 3R 34

1.LA-LB-ILC-IIILD-IV

I

A-LB-MLC-T,D-1IV

(7%

CA-LB-ILC-IV,.D-III

4 A-IIILB-IV.C-1.,D-1I
Options :
7311305385. 1
7311305386. 2



7311305387. 3
7311305388. 4

Question Number : 73 Question Id : 7311301351 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-TI with LIST-II

LIST-1 LIST-1I
{Principles of Management) {Explanation)
Employees should recerve
A | Uity of Command I. |orders from one superior
only.

The supervisors from the
B.|Unity of Direction II. | highest to the lowest
ranks in the organisation.

Each group of activities
with the same objective
must have one head and
one plan.

C.| Scalar Chain I11.

The work assigned to
each worker should be
clearly defined and
clarified.

D) .| Division of Work V.

Choose the correct answer from the options given below:

lLA-LB-ILC-IIILLD -1V

2

A-LB-ILC-II,D-1IV

[¥S]

A-LB-IILLC-IV,D -1II

4 A-NIMI.B-IV.C-1.D-1I
Options :
7311305389. 1
7311305390. 2
7311305391. 3
7311305392. 4

Question Number : 73 Question Id : 7311301351 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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lLA-LB-ILC-ILD-1IV

2A-LB-IIILC-IILD-1IV
JJA-LB-ILC-IV,D-III

4 A-IIILB-IVC-1.D-1II
Options :
7311305389. 1
7311305390. 2
7311305391. 3
7311305392. 4

Question Number : 74 Question Id : 7311301352 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II

LIST-1 LIST-IT
{Types of Budget) (Explanation)
Budget that reflects the
A Revenue and I anticipated income from the sales
| Expense Budget " | ot products and controlling
services.

Budget to provide a systematic
method for allocating the
resources in ways most effective
to meet the goals.

Pl'Ogl'EllTlIIlE

|Budgeting 1L

Budget that divide enterprise
Zero-based programmes into “packages” and

C; : I1I.
Budgeting then calculate costs for each
package from the bottom up.
Variable or Budget that adjusts targeted
D | Flexible IV. | levels of costs for changes in
Budgeting volume.

Choose the correct answer from the options given below:

1.LA-LB-ILC-IILLD-1IV

o]

A-LB-IILC-ILD-1IV

5]

A-LB-IILLC-1IV,D - 111

4 A-INILLB-IV,C-1.D-1I
Options :
7311305393. 1
7311305394. 2
7311305395. 3
7311305396. 4

Question Number : 74 Question Id : 7311301352 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 & G1Y G-I DI el i

ﬁg’l-l -1
(F9C P TP (G2EED)
goic ol IdIe] P gt 3R
» ;;ﬂ;jwq L |Froraenn @ wee o
ARG
&1 B T B B o0 gad
. ot sriea . qUTdT JRiel O a9yl &
|1 Fole " | sirdes @& o s suafaud fafy
U &3 & (ol guic

guic ol 39H BRIHH Bl
Y-SR g [ | Ubsi T fquIiord &dl g $iR

i P UL |z 9 @ SR o TP Ao
& o1 arTd S U HRaT e
- g gofe ol 9 § uladd & fog
D. maj% IV. | @Td o qférd =i &l
AT Sl &
4 feu MU fas et 7 9 Wt S I+

l.LA-LB-ILC-IILD-1IV

[

CA-LB-ILC-IL,D -1V

[

CA-LB-ILC-1IV,D-III

4 A-IILB-IV.C-1.D-1I
Options :
7311305393. 1
7311305394. 2
7311305395. 3
7311305396. 4

Question Number : 75 Question Id : 7311301353 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II

LIST-I LIST-II
(Phase of Disaster) (Feature)
: Include risk assessment and
A | Predisaster Phase I i
training.
8| Alert Phase e Period when a disaster 1s

developing.

Re-establishing sanitary
C.|Impact Phase III. |measures to prevent
outbreak of epidemics.

Relief efforts and immediate

D .| Post Impact Phase IV.
response.

Choose the correct answer from the options given below:

A= LB LB - 1Y

b

A-LB-ILC-ILD-1IV

T4

A-LB-IILC-1IV,D - III

4 A-III.LB-IV.C -1.,D-1I
Options :
7311305397. 1
7311305398. 2
7311305399. 3
7311305400. 4

Question Number : 75 Question Id : 7311301353 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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lLA-LB-ILC-ILD-1IV

2A-LB-IIILC-IILD-1IV

JJA-LB-ILC-IV,D-III

4 A-IIILB-IV.C -1.D-1I
Options :
7311305397. 1
7311305398. 2
7311305399. 3
7311305400. 4




